Writing Exposition in Physics
Learning Task 3a_EX
Apply Backward Reasoning approach to arrive at an answer to the question below:
(Source: 2012-PP-PHY-1B-Q5b)
(Only need to respond to part 5b)
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	BR Steps
	Referring to the Question

	1. State the Subject matter to make judgment on
	

	2. State the relevant Physics knowledge
	


	3. Apply the knowledge to the question
	






	Write the answer in Exposition format
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Figure 5.2 shows three points, P, Q and R, in a ripple tank such that PR = 8 cm and QR = 10 cm.

A dipper is put at P to produce circular water waves of wavelength 0.8 cm.

Figure 5.2

Another identical dipper, vibrating in phase with the one at P, is later put at Q. Explain the

change, if any, in the amplitude of the water wave at R.

(3 marks)
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Two rectangular barriers are put into a ripple tank. A vibrator vibrating at 25 Hz produces
water waves with straight wavefronts. The wavelength of the water waves is 0.8 cm.  Circular
wavefronts are observed after the water waves pass through the opening between the two

barriers.

Figure 5.1 shows the top view of the set-up.
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Figure 5.1





image2.png
[0 Name the wave phenomenon that takes place when the water waves pass through the
opening.
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(i) Calculate the speed of the water waves in the ripple tank.
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(iii)  If the experiment is repeated using a higher vibrator frequency. describe the changes, if
any, in the wave pattern shown in Figure 5.1.




